PRECALCULUS 1 (ALGEBRA) - TEST 4
Fall 2021

NAME  NET STUDENT NUMBER

SHOW ALL WORK!!! Be clear and convince me that you understand what you are doing. Use
equal signs when quantities are equal (and do not use them when things are not equal). Write
in complete sentences and explain your answers. Put your final answer in the box, when
provided. Each numbered problem is worth 15 points. This test is two-sided and there are 7
questions. No calculators, put away your cell phone and smart watch, and set the

computer monitor face-down on the CPU!

1. Consider f(z) = 28 — 162* + 1% — 16 and £ — ¢ = £ — (—4) = z+4. Use the Remainder Theorem
W e } to find the remainder when f(z) is divided by z — ¢ = z + 4. Then use the Factor Theorem

| 55 to determine whether z — ¢ is a factor of f(z).
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2. For f (z) = +/z and g(z) = 2z + 5 find the compositions and domains for f o g and go f.
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3. Consider f(x) = (z — 2)? for z > 2 and g(z) = /= + 2. Verify that the functions f and g are

inverses of each other by showing that f(g(z)) = z and g(f(z)) = z. Give any values of z
that need to be excluded from the domain of f and g.
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4. Consider f(z) = 7° + 1 té=¢54 Find its inverse f~'. What is the domain and range of f~1?
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5. Determine the exponential function:

3 2 1.9 1 2 37
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6. (a) Solve for z: 3%° — 9%,
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7. Express y as a function of z. The constant C is a positive number: In(y — 3) = —4z + In(C).
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